

Penthouse in Qormi



Qormi, Central



€403,000

Reference No: 240461048-298

 Total Rooms: 6

 Floor Area (m²) : 132

 Bathrooms: 2

 Bedrooms: 2

Penthouse - For Sale - Qormi

QORMI - PENTHOUSE - Forming Part of a New Modern Block served with lift, comes this Penthouse The layout consists of a large Open Plan with Kitchen / Living / Dining 1/2/3 Large Double Bedrooms of which the main is complimented with an En-Suite. This Property is being built and will be sold Highly Finished excluding Internal Doors and Bathrooms and Freehold. For more information or to arrange a viewing, please contact your preferred agent.

Features

Rooms

- ✓ Kitchen/Dining : 7.5 x 4.5 m (33.75 m²)
- ✓ Double Bedroom : 3 x 3.23 m (9.69 m²)
- ✓ Double Bedroom : 3 x 3.23 m (9.69 m²)
- ✓ Bathroom : 1.53 x 2.93 m (4.48 m²)
- ✓ Bathroom Ensuite : 2.56 x 1.2 m (3.07 m²)
- ✓ Laundry : 1.2 x 1.2 m (1.44 m²)
- ✓ Hallway : 1 x 8.09 m (8.09 m²)
- ✓ Open Space : 2.64 x 7.1 m (18.74 m²)
- ✓ Open Space : 1.3 x 4.5 m (5.85 m²)

Gallery





Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta